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BAE /A-16
ENVIRONMENTAL STUDIES

Time allowed : 3 hours] [Maximum marks : 75

Note : Answer any five questions in total. Questien 1 Is

compulsory.
Fe o g g ged 7 e 3 qeT wer 1 ofard &
1. Write short notes on the following :
Fyferitad ov it feafml fwfan
(a) Name any three endangered plant species of India.

qre #1 RREl dF gRegeT TRy gankEl & T [

Fa

(by Deforestation.
AT

{c) Drought
EEll

(d) Waterlogging
EREEU]

(e) Overgrazing

{f)y Food web
e STl

{(g) Natural disasters

(hy Thermal pollution

EIREER
- |

| I T



n

(i) Global warming.

Eikee A
() Reasons of Soil pollution. 10x2.5=25
M gEwT F FROT 10x2.5=25

Describe the scope and importance of environmental studies.
Discuss how environmental studies is related to other subjects.
H+612=1212
faydt @ 6| g meied §, ansa s 6+6Ya=12Y2
Write short notes on :
(13 Role of an individual in conservation of natural resources,
(i) Environmental effects of extracting mineral resources.
6,642
FrefefaT o7 H#Em & 9 fefan
(%) TEEE T S e F apE A g
(@) 9 FEE F @ W e g 6,62
Define ecological pyramids. Describe in detail different types of
ecological pyramids, 2+10%2
% e @ afer dif B amw & vt
frofest &1 fgem & aof it 2+10%

Write short notes on

() Habitat loss of biodiversity.

(1)  Hot-spots of biodivarsity. 6,6%2
FeifeiaT o7 H&7 & T2 fefan .

() & Rfaw % omm w7 T A4

(=) %9 fftew 3 o= o 6,64

a1

(3)

6. Define Pollution. What are the causes and effects of noise
poltution. Describe. 2+ {12
OECT i AfCIT i) e agET $ Fnvr o g Ay ¥ 7 v
FITT | 2+10v2

7. Write short notes on
{1y Effects of thermal pollution.

(i} Effects of Nuclear pollution. 6,62
frfafag wr |87 ¥ T2 fhfa

() A mgEer & gue

(=) bmE age & nam 0,6%2

8.  Describe indetail Air (Prevention and Control of Pollution) Act,
1981, 12172
T3 (70 o3 uguw FEEw, afufrmm, 1981 %1 Ew & oo
£y 1215

9. Write short notes on ;

(1) Population explosion.

(1} Women and child welfare. 6.6%
e T HEg B e fafa

(= e HRDESAG

(5) wieer vd @= FEar 6.6V
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BAE /A-16
COMPUTER AWARENESS
Paper-Level-I
Basic Computer Education

Iime allowed : 3 hours] [Maximum marks : 100

Note : Attempt any five questions.

Fe . FE g g7 B

1.

Make a block diagram of computer and explain essential parts.
20

FYIT P TAF F T qO A@emE WO A @R @i 20

Write anoteon :

(a) Non-ImpactPrinters  (b) Any 4 Input Devices. 20
P 9T o el fird

(%) T omer gz (@) % 4 &7 g 20
Define operating system and functions of operatin g system. 20

HAE OO T MRS OO $ 6l & afie @R 20

70

Explain Using Windows :

(a) Taskbar {b) Icons

{c) Folders (d)  Desktop. 20
Reld & I F gu weeny

() eram (@) omgEH

(m s (1) 2= 20
Explain with help of control-panel :

(a) Setting Time (b)  Change Screen Saver

(c) Change Wallpaper {(d)  Printer Setup. 20
- Trans. [Turn over




FET 9Ee %) wEger ®
(®) AT wm (7)) BFF a9 ufta
(7 R g (7] fzv ey 20

6. Explain using MS-Word :

(a) Usecof fonts Use of Spell-Checker

(¢) Clip-an Textatignment 20

T UE R H ST FE g BT

(M) FEm oard (9)  TRe ST 20
7. (@) Explain Mail-Merge using Word.

(b) Discuss use of tables in word. 20

(F) = & TBW FW o e Foarmr AR

(@) a8 q anfmd 3 audm # REer @t 20
8.  Explain Internet and its applications in Education. 20

fevde qu R ¥ TS S deeRT 20

9. (a) Explainany two Browsers.
(b} Discuss how to send e-mail to multiple uses. 20
() B & ared 3 aren i)
(@) ag7 & swAmlel A Few wEr B 4 Aen o w2, Har

I | 20
10. Write note on :
(a) Macrosin word {b) Storage Devices. 20
Fr ot feofer ferfean
() a2 % Jww (@) wosmer gfmai . 20

_ﬂ-l_.,?m:x.
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BAE /A-16
HINDI (Elective)
Time allowed : 3 hours] [Maximum marks : 80
7E g wvT sy &

1. Ffafag Tenist 7 8 Bl & & audn e ST 545
(®) BR =+ & aifers a1

Fe A AT THgE A
9 AT FE BT B9, i B o @ T &

F e FH HL A AR, TH A 2T SAL AR
%2 FE O I faErd, A gE g geant

(@) FH-ww @ @ A, e sfvEE

3R @i 4, g ad e

Fed-9od HU ARG T H09 Wi T
Hed-ued g 7 BR 92, 36 a9 Fieas |

ol gl '\ B oA 8, e g AU & A
T A e ai e, e wudl o e a6
T FFE W) g gA, 3 0§ gl oife w8
g9 &9 df wd @ & @@, 9 g ¥ g serw @
o @ fg, frerdt 9 o

FeH O A B FE 2 N B T @9

I T A FET AW, g T ST

fawg et 2@ qu I @ el § @@

g & 0 fReT AR T @ da9 w@E|




2.

3.

4.

5.

(2)
S A1 gREE H Alelad qied fEn | 5

frfafes =) wet § & fFsl & 3 I fofan 5+5
(%) wifedl & oM W 5 AEW H oA FH g F e
(@) ‘Fmg @ stE ofds # orria Wil & A R

(m) HRT # AR wEE W g S |

(9) TA=E @ I qE WS Hi |

frafefas T F @ B Q@ @ awEn A st 5+3

(%) @od 9gd & 9B 9, 9 aw el @ B o, gl T 8 e
T FEC B ® 9- T B9 od @il 8 9 S| T, 89 ER
0| geAE ERft 2 7 FOE BN M, B9 BR &Y W 0|
BRI B e B I e | i B R o el | B 7
79 0F o9 % 99@R & T

(€) ghemR o= Red art X 3fe e, g MEse 3 98 FHE
fr Tl & CHH & B 9Rd B 3fed § a8 wew
@2

(M) == ufn # EE SN @ @ 99 afed 8199 % B 9dl @
TFhe FEA P Qe @d Al ol FEh 21 1 A 3l 3E
U Fr = difz TE @A, & 98 w9Edl P @ a1
HEMy STETlg TE & FaEl |

(@) @@ @ Fm I O, e e & e wl, e e
# am § R g ofew #wE Ry oan o% W S as
vt gadr e F e § FE T AR U R
AN =2 qE w59 oK umh & fraig e 8

gl FEEH B AN W R A9 F A #ouqd s
o i | 6
R

W qam e due R # oA e =t | fafan

—

10.

(3)
Prfofia faedl & @ Bl @ B w R fRiae) 8

(F) W (m) omgfve

(m au g = (@) e asl

(=) Tgemn = (@) srEE Fe

(8) eftawd dwgld () waRERE HEm

i wf & @ 5 @ § @ o9 e fafen :

argl, U, mifer!, getcer | 4+4

Freaffag ol & €@ BFet & & @ gd EEw faie

wy, dfefad, g<s, WA 4+4

FRHET & AHE G TR ST | 8
aear

Qe T H AHPER T o (e

Fr=fefag et & I S 7

(i) SEE # gg@ T AH gaEd |

(i) ‘wE Fe F AEE FF 27

(i) orea1942 & 9NG & Amell 0 AT o R
(v) R 9 & g Fa RS o o g ?

(v) g & & s & 9m ®Kiag

(Vi) T @ Ba i $ o B 7

(vi)) onfmm 1 drmeneE # wa e FEM S A 7



(4)

(v)  Whichelement influence Nation development
(a) development of education
(b) industrialisation
(¢) urbanisation
{d) aboveall
M= AR RS W A T R A g mee
(%) Rrm #= EEE (g ey
(m 7 (7] TR A
(v) “Unity and Integrity of the nation® word found in
Constitution’s part

(a) Fourth (hy  Sixth

(cy Twelveth {d)  Preamble

T B A A e o A & B § o e

() = {1, @2

() amvd (7)  owmEw A
(vii) Whoisthe first Political Scientist

(a) Plato (b)  Aristotle

(c) Hobbes (d)  Karl Marx

Y EHIE S A 3

() (=) o

(M) et (7) Pl med
(vii) Which is not the agent of Political Socialisation

(a) Family (b)  Revolution

(c) School (d) Literature

FA-T TS wEEETT W afea T8 2

(%) dftare (@) @

(1) R (@) =fewm

09
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BAE /A-16
POLITICAL SCIENCE
Paper-II Option.-(ii ’
Political Theory Concepts

[Maximum marks - 80

Note : Artempt five questions, selecting at least one guestion

from each part.

N ;TR ST A 5T @ T A T 5 g, g m
Part-A (¥F1-37)

1. Define Political Theory. Discuss its scope. 16

2. Define ‘National Power’. Explain its determinants. 16

TR SR g R aad ) zed el ad A ameEr 7316

3. Discuss the meaning and nature of Political Elite. 16

AT T F 9 o oy # B3 wE 16

4. Discuss the concept of Political Socialisation. 16

TS FHRET #oawer @ fRe 9t 16
Part-B Aﬁﬂrﬂv

5. Define political participation. Discuss factors which determine

political participation. 16

TSI HEAe # g JaT | i ae Bl 5

e B F AT HY | 16

6. Define Modemisation. Discuss its various aspects. 16

STHFHETT F A Ao | gad B gegelt @ mrem w7y
16
09 [Turn over




~1

(2)

What de you understand by Nation building 2 Describe the

elements of nation buildin g. 16
Jﬂan%ﬁﬁﬂwwvﬁ%wm@%%ﬂw
16
What is Consumer Protection ? What problems consumers have
to confront with ? 16
FA U R 7 16
Part-C ?Elﬁv
Short Answer Type Questions. Attempt any four questions.
dx4=16
m@%mﬁ_iﬂuiw%%ﬁ 4x4=16
()  Features of Power.
T & R |
(1} Functions of Bureaucracy.
AeFTemdt & Frt
(i) Kinds of Political Culture,
SIS G6p B G|
{v) Note on Consumer Protection.
SURFRT HHT T e

(v) - Characteristics of Political Modernisation.
TErfes snegRE % R
(v} Problems of Political development.

TS B # TH |

5]

(3)
18.  Objective Type Questions - 8x2=16
T g5 Ex2=16
(1) “Theoria’ word derived from the {an quage :
(a) Latin (b)  English
{c) French (d)  Roman
“Theoria’ o= fFg 9 § Rrgr mr 2
() Al (=) Zhaw
(1 P (m A=

() Who wrote the book ‘Mind and Society’
(a) Lasswell (by Pareto
{c) Easton (d) Mils
"Mind and Society’ 7 T 3 e @ ¥
(@) (@) ¥
(M) == (9) fiew

(i) Function of Bureaucracy is :
(a) implement Government Policies
(b) run administration of Department
(c) advice the ministers
(d) aboveall
A @ F R
(%) " et @ AR HAT
(@) 9 #1 e gern
() AR W w4y
(@) s of

(tv) In which year ‘Political Culture’ word was used first
(a) 1926 (b) 1943
(c) 1956 (dy 1971
RERInERE: =7 A= AT R HF g
(®) 1926 (=) 1943
(m 1956 = 1971

09 {Tumover
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BAE / A-16
ECONOMICS
Micro-Economics

owed ;- 3 hours] [Maximum marks : 80

Artempt five questions in all, selecting at least one
question from each unit, 4th question can be attempted

from any unit. Question No. I is compulsory,

All questions carry equal marks.

1. (A

iy

(i)

(iif)

(iv)

(v)

(v)

(viD)

U FPE & F i F7 gF q97 F T I g0 FT 5 47
F Fav @M, T ge7 fed o $FE 8 B o wwar 2
g97 g 1 gfard &1 il 0o @ s marT 8

Choose the correct option :

The wealth definition was given by (Marshall/Smith)

g oty it & R (et /fe) g m

Economic problem arises due to (Scarcity/Abundance)
oFE T SO BN B o (R

In case of ZERO elastic demand, quantity will be (constant/
increasing)

g Wi a B R J AEr e {feree)

Marginal utility (Can be/can not be) negative.,

T G e (2 s /A8 8 ") ©
Average revenue curve under perfect competition ts
(Horizontal/45 degree line)

T SfeiE & 3T, Saa S ey e § (A, 45 )

Economic reforms in India started in (1971/1991)
ad # aniie g @ g (1971/1991 )

Indian economy is a (centralised/decentralised) cconomy.
T s U (P /fede) aderaen 2

U




(2)

(vir) 8th five year paln has the period of (2002-07/2007-12)

Aredl geadE TeET aEy & (2002-07/2007-12)

{ix) Profit-oriented agriculture is (commercial/subsistence)

e /5 s B4

A IF F FoFE o E

(x) Bank to meet the financial needs of small industiries is

(NABARD/SIDBI)
QEEVEEE 10x1=10

(B) Attempt any four of the following :
Feeis § 4 &2 9] & 3 @
(1)  Give the meaning of Opportunity cost
(i) Give the meaning ot an Indifference curve
TEEIAT G W A T
() Give the meaning of sclling costs.

(iv) Give the meaning of disguised unemplovment

BT 27ranT 89 gAm

(v) Give the meaning of marketable surplus (1-1/2x4=06)

A g Afeis w1 o@d g

Unit-1I (358-1)

2, Define economics and give its nature and scope.

r ~

A W AT I T T g s T @ 7w

3. State and explain the law of variable proportions,

gRgas AT # TR # oA #F qur wewd |

M= 1

16
16

16
16

(3)
Unit-11 (5&E-11)

Give the properties of perfect competition, and long run
equilibrium of firm and Industry under returns to scale ?
g gfEiE # fgdwE aad, 7 8 w4 9O ® oW

Give the properties of monopoly, and give equilibrium of the firm
under price discrimination. 4+12=16

THEET F (TS9N A9, U6 FWA 49T @ AT EH & Age F1

oy F7 | 4+12=106
Unit-TH (FFE-111)

Give the matn features of Indian economy. 1o

AR Aefeaay ) e e g oama w5 16
Discuss mam economic reforms taken up in Indian economy.
16
B o EroINC I e I DE A T A LR S TR [¢
Unit-IV (3FE-1V)

Discuss the trends in Indian agriculture and productivity since

the times of Green revoluton. 16

~ - -

Gl £ H5Y sEREA 5 v 2 2 Ty 8 ughit @ ave w¢
16

Discuss the importance of Small Scale [ndustries in India and
their problems, 16

AR F g T & TR W weE 9 T el w5 ave &
16
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DBAE / A-16
MATHEMATICS
Paper-BM-101
Algebra and Trigonometry

[Maximum marks : 27

Note : Attempt five questions in all, selecting at least one
question from each section.

1. (a)

)

2. (a)
15

Section—1

Express the following matrix in the form P +iQ where P
and Q are Hermitian matrix.,

24+51 6-1 5+2i
A= 3 2 -1+ 5i 3
0 7-3i —5+6i

1 2 -1 3
Find the rank of the matrix A={-2 -4 4 -7
1 2 1 2
by reducing it to normal form 2
Find the eigen vectors of the matrix
~2 2 -3
A=| 2 1 -6 3
-1 -2 0

[Tum over



(b)

(a)

(b)

(a)

(b)

(a)

(b)

Solve the following system of equations
X—-y+2z-3w=0
Ix+2y—-4z+w=0

4x -2y +9w =0 2
. a+ic -b+id o
Show that the matrix A = lb+id  a-ic 1s unitary iff’
a+b+c+di=1 3
Reduce the quadratic form

X2 2%+ 3x72- 4x.x, + 6x,x, to canonical form and find
the rank, index, signature of the form. Also, find the equations
of linear transformation. 24

Section-I1

Solve the equation 4x* + 8x*+ 13x? +2x + 3 =0, it being
given that the sum of two of its roots is zero.

)

sl

If the product of two roots of the equation

x{+px* +qx? +1x + 5= 0. be equal in magnitade but
opposite in sign to the product of the other two. show that
p’s + 1’ = 4qs. 2%
if a, B, v are the roots of the cquation
x? +px? + gx + r= 0 find the equation whose roots are
o - Py, B - you, ¥ - aufh. 3

Apply Descarte’s method to solve the equation

X~ 10x* +35x2 - 30x + 24 = 0. 2%

(b)
(a)

®)

(a)

£1

{h)

Section—1I1

Ifnis an integer, show that n (n?-- 1) (3n + 2) is divisible
by 6. 3

Solve the equation 7x + 5y =3 2

If p is a prime number, show that (p—21) ! 2r— 1)1 - 1

isdivisible by p, 3
Find all integers that give the remainder 1,2, 3 when divided
by 3,4, 5, respectively. 2%
Find the highest power of 6 contained in 500 !. 3
Showthat n* o (w)=¢ (m) 2%

Section—-IV

Using De Moivre’s theorem. sclve the equation

NS ST S I |

ted

11§27 % = ¢ + i, prove that o + {12 = g (n - 115 2%

Separate iog sin{x + iy} into real and imaginary parts. 3

Find the sum of the series

1 1
- ,

+ tan ! w +tan ! o 10 1 terms 2%

tir | —=

—
Lad
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DBAE /A-16
MATHEMATICS
Paper—-BM-102
Calculus

[Maximum marks : 26

Note : Attempt five questions, selecting at least one question

16

from each section.

(a)

(b

(a)

(b)

@)

(b)

Section-1
Prove that function f defined by

meEW ifx=0
£()= x
0 ifx=0

is continuous and derivable at x =0 2%

Ify=[log (x + V1+x? )J?, prove that
(1+x)y ., +@n+Dxy , +0’y =0 2%

n+1

If 0 < x < 2, then prove that

(x-1)° +@|:u =D’ + .
2 3 4

logx=x-1)—

2%
Find the cubic which has the same asymptote as the curve
and which touches the axis of'y at the origin and passes

through the point (3, 2). 2%
Find the chord of the curvature through the pole of the
cardioidr=a (1 +cos0). 2%
Trace the curver=acos 36. 2%

[Turn over



16

(a)

(b)

(b)

(a)

()

(@)
(b)

(a)

(b)

(2)

Section—11
Connect ._.mga xcos" xdx with

._‘mm:alw x cos” x dx 2%
Findlengthofaloopofthe curver=a(9*-1). 2%

Find the intrinsic equation of the parabola x = at?, y = 2at

these being measured from the vertex. 25
3

Find the area between the curve. y? = T2 x and its
a-—x

asymptote. 2Ya

Find the volume of the spindle shape solid generated by
2/3

revolving the astroid x> + y¥* =a%? about the x axis.
pAZ:

Find the area of the surface of revolution formed by revolving

the curve r = 2a cos 8 about the initial line. 22

Section—III

Solve (2x%y?+y)dx—(x*’y - 3x)dy=0 2%

Solve p*+2pycotx =y’ 2

Solve (D + D+ 1) y=sin2x 2

2 d%y . dy 2
Solve x E|M+lelma%uﬁx+3 par
dx dx

10.

16

(a)
()

(a)

(b)

(3)

Section-1V
2
Solve (x+ Ba|wl©x+mv dy +2y=(x+1*
dx dx

Solve by the method of variation of umﬁ::ﬁna

(D*~2D +2) y=e*tan x.

Solve the stmultaneous equations.

ta TY°
dy
ﬂ& +x=0
Solve

dx _dy _ dz
xy vyl oz(xy-2x%)

LS ]
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(vi) Whichoneisacivilnght ?

(a) RighttoEducation (b} Rightto Vote BAE/A-16
(¢c) Both (d)  None of the above POLITICAL SCIENCE
A s B 3 7 \ Paper—Option-I
@) B T R - | Political Theory |
@ A W) e b A Time allowed : 3 hours] [Maximum marks : 90
(vii) Political liberty means 2 Note : Attempt five questions in all, selecting at least one
(2) Rightto contestefection (b} Right to vote question from each part. All questions carry equal marks.
(c) Both (d1 None e :  gEE 9 4 I 8 B OF 97 g9 §0 T 9T 497 @
TS daa 7 99 T 3 gt 359 F oF UF AT B
(#) 990 @=d @ R |m w0 = e Part—A (-5
() =i (@ @5 7F 1. Discuss main features of modern political theory. 18
{viil) indian stateisa: 2 AYFE % FE #1 ogE faumee @ oaue e 18
me Womwooamao state :”Hv M\m_mﬁw state 2. Define Authority and discuss its functions. 18
e o o ; a P A e g A A RRE AR 18
(%) e 3 @ - 3. Evaluate the evolutionary theory of the origin of state. 18
() 3 3 @) B T # F & R R IR e i Ed 18
(ix) Whosaid, “Religion is an opium.” 2 4. Discuss Austin’s theory of Sovereignty. 18
{a) Plato (b) Lenn . s & ygadl & feer & aoie Fif) 18
(¢) Gandhi (dy  Marx Part—B Aﬁﬂtﬁv
A T W, s . 5. Discuss main features of Liberty. 18
(%) S T % gE RO S 18
(my el = O
6. Define Rawls theory of Justice. 18
7. Discuss merits o Democracy. 18
TR % T e 18

— P - — — I W — M1 s




(2) (3)

8. Discuss the functions of a welfare state. is (1) Who said, “Politics is the science of power ™? 2
T B gy 18 (a) Cadin (b)  Easton
Part—C Aﬁﬂlqc (c) Roberts (dy Ml
9. Short Answer Questions : VT A B 8 E e L 2
Y IAG g (@) wm.mj u =
(M) v (5 e
(2)  Define Power. 3 (i) Which one is not an element of a State ? 2
A A AReE 3 {a) Population {b)  Government
(b) Differentiate between state and govermment. 3 (¢) Sovereignty (d)  Recognition
U R v qan 3 = 8 & Fra 7w 7 a w2 o 2
(¢) Define general will. 3 (%) sTd=a (ml T
HHE g1 A i it 3 (1) wgE ) AR
(d) Define citizenship. 3 (v) Who wrote ‘Das Capital” ? 2
i A afa e 3 @ Mao (b Lenin
() Whatis equality 7 3 MM wMM_,_,a 5 e o 3 _v@ Marx ,
GEIECI: i 3 ) @
(f) Whatis social change ? 3 () e (@)
HEE TR 3 (v) Whichoneis basis to acquire citizenship ? 2
10. Objective type questions : (@) Totake admission in the couniry
TGS 997 (b) Totakebirthin the country
(1) Whois known as the father of modern political science 2 (¢) Tomake trade in the country
2 (d) None of the above
(a) Aristotle (b)  Marx ARG s B £ C el B g SR 2
() Machiavelli {d) Lenin T ¥ B o A
() Bewme = AP (8 == 3§ ¢ a5
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BAE /A-16
HOME SCIENCE
Paper-II
Hygiene
Time allowed : 2 hours] [Maximum marks : 27

Note : Attempt three questions in all, selecting one question
Jrom each wmit. All questions carry equal marks,

Ale . gOE ST § OF U I U g AT 09T A ad gt

# 9% 77 &1
Unit-I (3-1)
1. (a) Definehygiene. Describe the role of personal hygiene in
health.
(b) Write sources of air poltution. _ 6.3
(%) = BEE # ofeafe S mwea § e @eg @
qHw F guH Ff |
(@) g =T & d@ # fakaw) 6,3
2. Explain water pollution in detail. 9
o U5V % feegd e P 9

Unit-11 (FF-11)
3. Commentonthe following :

{a) Communicable diseases
{(b) Incubation Period and Isolotion.

(¢) Typeof Immunity. 3x3=9
Friaiteg @ feogoh m%@d :

(F) wowms T

(@) Sgees &« 7 Rem

(M) soITEl & R 3x3=9

r—]) o



(2)

4, Define disinfectants. Write the need, types and uses of

disinfectants with suitable examples. 9
TTIOL-+f191 B TRy T | ST STweel |fgd I s
A, TR T W@ F fHRaw 9

Unit—1T (5111}

5. Write the causes, incubation period, mode of spread, symptoms,

prevention and control of Dysentry in detail, 9
feremigds fafen 9
6. Describe the causes, incubation period, mode of spread,
symptoms, prevention and control of AIDS in detail. 9
faeRyds ke | 9

_ 48 _h?m.:m.



()
Change the Voice :
(1} Social work interests him.
(i) A stick is to be walked with.
(1) Rose smells sweet.
Punctuate the following sentences -
(1)  gandhi fought for indias freedom

(i) the ramayana is the holy book of the hindus. 20
{b) Do as directed (Attempt any seven) Use proper
preposition,

(1)  Sheissenior......... me,

() The tigersprang ......... the deer.

Use proper Article :

(i) ... Ganga is our sacred river.

(iv) Haveyouhad ... . breakfast ?

Use Proper Adverb :

(v) The newspaper is delivered
(vi) We have meetings

Use Proper Adjective,
(vi)) Sureshismy ......... friend (old)

(viil) Preetiisthe ........ of all the students. (bright)
Use Proper Conjunction :

(ix} He lost the race. He tried his best.

(x) Ramisrich, He is not happy. 7

3. Write an essay in about 200 words on any one of the following

topics :

(i) Noise Pollution

(1)  Women Empowerment

(i) Lohr

{(iv) Where thereisa will, there is a way. 8
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words

'y high ) cul
(niy arms (iv) pick
ﬁfg.v :..m,@ 7%5 OHQ
(Vii) poor (vill)  hurt

(For blind candidates only)

¢ Fthe f ‘ing words
Give meaning of any four of the following w ord

(1y  depict (i) brutal

{il) decent (iv)  grateful .

(v) boon (vi) herb _—
(b) Give antonyms and synonyms of any fowr of the following

words -

() dul ) lving

JE MOVing (Ivy Jovous )

(v push (viy glimpse

. L d/
2. (a) Answerany four of the following questions 11 a Wo
| . h:
phrase/sentence eac N .y
() Whatis "one of Bash’s worst afflictions ? Why
(i) Why did Otima work absently 7
] [ Y Q
(i) What did the narrator say about ‘the ears

[Tumover
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(2)
(iv) What did Winnie tell Tinula ?

(v)  How much money did the peasant have to buy a
bullock ?

(vi) Whatis a Panchlight ?
(vii) Why did Gangu want to resign ?

(vii) How did the dog go to the blind man ? 4
(b) Answerany sixof the following questions in about 50 words
each:

(i} Discuss the relevance of the title of the story ‘Pigeons
at Daybreak’.

(1) What did the narrator say about his own face ?

(iit) - Assess the brother-sister relationship as described in
the story. ‘“The Journey".

(iv) How did the ‘two women’ arrive in Bombay ?

(v) Whatstrategy did the peasant in the guise of a woman
use to send the sons away ?

(vi) How did the musicians behave that evening ?

(vi) Describe Gangu’s married [ife with Gomti.

(viil) Write a character-sketch of the blind man.

() How did the dog guard the blind man from the village
Urchin ? 12

3.  Answerany three of the following questions in 150-200 words
each:

() Whatis the theme of the story ‘Pigeons at Daybreak’ ?

(i} With reference to the story. “The Journey’, write about the
natural beauty of the North-East,

() Whatimage of the rural society do you get from the story?

1401

(3)

(iv) Who is Gangu ? How does he try to justify his desire to
1AY ) gu .

i d?
(v} What happens to the blind man and the dog in the e

21

Aternp: any nwenty of the following .

1 Identifv the types of sentences m the following.
(a) Areyoucoming?
(b) Get me some water.
(¢ Close the door.
td) Youare adorable !
(1 Ttrained heavily last night.
Combine the following sentence to make compound

sentences
) Akashis hardworking. He will m:o.ooma.. )
(g) Ram worked all day. He didn’t finish his work.
(h) Youshouldhelp me.1 shall do the task alone.

Use the following modals in sentences of yourown:

(h wi i) would
() should (iv) can
(v) may (vi) usedto
_(.. -
(vii) ought. . y
Fill in the blanks with correct form of given verd:
() Apairofgloves........ (be) lying on the floor.
(i) Breadandbutter ......... (be) his usual breakfast.
: .
(i) Ourteam........ (be) wearing their new outfits.
f.
{iv) Most of the money ......... (have) now been spen | )
\ . §
(v) Many American WOTKEIS vveenr (go)to work in theiro
car.
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T M TiTwere the causes of the downfall ot Delhj S rxm2ea

TR & wH & owr g o
Section-111 (gug-I11;
6. Describe the administration of the Sultans of Deixj. T
wﬂwmﬂ%wﬁﬁﬁéﬁ%ﬂ_ ,

7. 1
What were the main features of the Bhakti Movement
Describe its effect on society. :.n.

T AT 57 B o o 7 o

Section-TV Aﬁawlj\v

g i .
On the outline map of India, show the extent of Harsha's

empire. Also add explanatory note. 10.6
ﬁﬁwﬁﬁﬂ%ﬂﬂw%g%ﬁﬁu&q
AEAE fTaqef o Brg ) 10 @,
o- - ~ L] .-
On :.ﬁ outline map of India. show the extent of Vijavnagar
Empire. Also add explanatory note. . :wu 6
W & Wi e 9 e HTAT=T F1 faeam qofzn gy
AT Pl 4 e 106
_ 1412 _ [See Encl. - Map of Indiu
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HISTORY
Paper—Option (1)
History of India (600-1526 A.D.)

[Maximum marks @ N0

Time allowed : 3 hours]
Note: Attempt five questions in all. Question
compulsory. Aticmp! four nore questions. Seo REDW
least one question from each section. For wisually
handicapped candidates. the pari relating 1o e
explanatory nore will carry full marks.
e : g 9T w5 T A 56 e ] st & 7
gvs & 79 8 #9 @ 457 §F 5 AW FE ST
1. Choose correct answer of the following : Each guestion caries
2 marks : 2-8-16

Erfiad § § 9 SO @ g HT | F0E T

Noo bis

Ryl

(i} Banabhatta was the court poet of :
Ashoka (b) Kanishka

1a)
¢y Hlarsha (d) Jaichand
CEE F=m TE R 9

R (@) H=

i = 1z} TIEE

Hiuen-Tsang came to India at time of :
(b) Harsha

—
—

(a) Ashoka
(¢) Chandragupta-li  (d} Bimbisara

(1) AAE =
GIRCECRERIE 7)) fafiem
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(2) | (3)
~:i1+ Mihir Bhoja was related to which dynasty ? (vii) The teacher of Kabir was:
2+ Pala {b) Pratihara (a) Ravidas (b) Chaitanya
-¢i Chandela (d}  Parmara (¢) Ramanand (d) Namdev
fooe a1 @ wafem o 7 4T3 T Y
UL (@) ser (5) e (@ =
A T Aﬂ lire= g (@) T ﬁﬁ EILEC]
(iv) Mahmud Ghazni invaded India for the first time in - (viii)  Who was the first Muslim woman ruler of India ?
(a) 1191 A.D. (b) 1003 A.D. (@) Nurjehan (b) Chandbibi
(€) 1000 A.D. (d) 1001 A.D. o1 Mumtaz (d) Razia Beghum
AR Al 4 9T O YN a1 FEAT G o = = TE geE B
{a1) 1191 20 3 (@ 1003 3c p—— =)
(/) 1000 2o § TOI00] 2= = _ nﬂuiu (7! 7P 4T
(v) The founder of the Sultanate was : ‘ Section-I Aﬂq@LV
. o Charshe e 3. Discuss e earlvlife and achievements of king Harsha. Was

(¢) Qutubuddin Aibak (d) Monammad Ghori . o
~enevolent king ?

oA F GEgsE o ¢
: > _ s%ﬂu%mﬁﬂ%ﬁiﬂ%@fﬁﬁ@
A/ﬁv g & =T st 7 16

Aﬁv m,mu@m%u_wm_ﬁ (T, === S

3]

H

1 Ww=a: was the role of different dynasties in the struggle for

(vi) Ibn-Batuta visited India during the reign of : o - 16
i 5 R Xamnau) >
(@) Ala-ud-din Khalji (b) ~Firoz Tughlag i 3 S md A o Ad @ Fn gEE A 16
(¢} Muhammad lughlaq (d) Sikandar Lodhi
TG 3 G A R o S Section—11 (&@°3-11) :
(o) erredr fars (@ e 7= 4. Describe the economic reforms of Ala-ud-din Khilji. 16
. . : o ; 16
@) g (@) e i A & A g # e A
[Turnover

1412 =5
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Printed Pzzes: 3
GSE / M-16
HEALTH AND PHYSICAL EDUCATION
Theory

Time allowed : 3 hours] [Maximum marks - 60

Note :  Attempt total five questions. selecting one question trom
each unit. Unit=V is compulsory.

T : FHF FE T GF I57 g 20, % GF g7 I G0
@E-V sfar &

Unit-1 (z#8-1) #

1. What do you mean by Health Education ? Explain the

importance of health education in modern society. 10
ey e & 9 f A &/ A 3 7 g aue F e e
F HEd T Ao Fb | 10
2, WhatisFirst Aid ? Explain the general principles of first aid in
detail. 10
mafd T B wEd B 7 mafe geedn & a9
foega arer i 10

Unit-1I (3%6E-11)

3. Explainthe pre-independence historical development of Physical

Education in India. 1[G
g el B w1 oA oy & o 3 ifefer e oo
T FI | 10

14190 _ DT M



-

4. Elaborate the contribution o7 =2 O lvmipic Association an
Netaji Subhash National Instr=z -7 soors in the developmer:
of Physical Education. i
A s CRfesE 7 T T P oAmA o
it e & fEm § dem w5 == 10

Unit—II1 (3FE-111)

5.  What do you mean by Physical Fitness © Taplainote
components of Physical Fitness in detail. o
MHRE g | ovH 7 P B 7 aiife g ¢ 5T 5 T
qUH g | 1

6.  Elucidate the factors influencing physical fitness in dezil,

Unit-IV (3&E-IV)

7. Explain the Anatomy of Human bone and functisms ofhemes in
detail. o
e ARY &1 TR g w5 F A g 5T T

8. Whatisjoints and its types ? Eiaborate the frecl movable joints
mn detail. ¢
e Rl Fed B 9 3 feed va B R 7 ordf o g S =
feregds avf i i0

Unit-V (3#1E-V)
9.  Answeral/the questions: 2x10=20
g9l uedt ® I G 2410=20
(a) Whatare the three main scope of Health E¢..caijon ?
weE e & a9 g 8 - E
1419

oy

(d)

(e

)

[1419]

1,1

J

WITsimzaTier of this statement “The atma is not

izzetle pvawvweak man”,

FEE T OTAE A g A o e @ o

[ ¥

- e &>y ‘ _

=4

Whatis meant by A. B. C. in First Aid ©

E@aﬁam_m?w.o.@ﬁ%ﬁw-

What will you do while giving first aid of nose bleeding ?

TE T EUE o B ors s — TEE THET I

BT ?

When Sports Autherin of India was started ?

%uaﬂun‘ﬂﬂ,w%uwﬂ\@«wdﬁﬂﬂ

Teli the rwe basic contribution of YMCAin'udia.
FYMCAF T A9 B AR F qa |

Tell about the tvpes of Dynamic Strength.

Define Felxibility:

TEE

Give the examples of Ball and Socket joints.
Ball 7 Socket joint & wemrw #ifms |

What is bone Marrow ?



(4

What is the difference between Margi and Deshi Sangeet ? 8

arft od sl wdie § @ oFaw 8 7 8
Write down about the Gun and Dosh of Singers. 8
TR & 1 dR A F A H 8

Section—C (G-}

What is the Role of Music in National Integration ? 8
T uE § i @ g & 7 8
Write Tilwara and Rupak tal with dugun layakaries. 8
aw feareT qul wue @ FH aaw e el 8
Write the life-sketch and contribution towards music of Pandit
Omkar Nath Thakur. 8
givea SR A aE A W AT TR o @ih & iy armee
% A 9§ fofew) 8

1420
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Printed Pages: 2

Time allowed : 3 hours]

GSE / M-16

MUSIC (Vocal)
[Maximum marks . 40

Note : Attempt five questions in all, selecting at least one

qie :

question from each section. All questions carry equal
marks.

TR @ve @ & & a7 UF 997 g9 5T, O G 5T &
F¥) oft ge B o w2
Section—A (%)

Write the notation in Drut Khyal of Rag Vrindavani Sarang with
1w Tans., 8

ﬂmﬂi%%%%&%wi%ﬂ@@_ 8

Write the detailed description of Rag Kafi or Rag Hamir. 8

T e T e & et oy R 8

Write down the notation of slow Khyal (V jlambit Khyal) inany

Rag prescribed in your syllabus. 8

%aﬁﬂw@%ﬁmmﬂ%ﬁmﬁmﬁﬁﬁﬁg

foret 1 8
Section-B (&72- )

Write short notes on the following : 4x2=8

(a) Vama () Khyal

(¢) Tarana (d) MajorTone

Preffas o dfte fewafer fed 4x2=8

(%) af (@ @

(m) aw (@) B A

[ 1490 | PT.O.
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(1421 ]

o

(2)
Section—II (@vs-11)

Define any four definitions of the following :

1) Sam (i) Khali (i) Tak
- (iv)  Meed (v)  Ghaseet (vi) Zamzama

(vii) Vadi (viii)  Samvadi (ix}) Vivadi 8
Fefafen Rt 9 & qieemr forg -

@) wm (i) @wn (iy =T

(iv) s v) =HE (Vi) S
(vii) & (Vi) mEE (ix) foavdd g
Define time theory of Indian Music, 8
AR T & g7 R % s #w ¢

How can you classify the Indian Instruments ? cxplainit, g

g
Section-HI (gvs-II7)

Write the following Talas in Ekgun and Dugun Layakarics —
() Rupak (i)  Jhaptal 8
Frfsfan arl A oH1 @ 371 e & Tw AR
i) @ i) FwE™ 8
Merit and demerit of a Sitar player. Describe it. 8
B @/ & 7o 9 G @ aofy R 8
What is the role of media in development of Indian Classical
Music ? 8
ﬁ%ﬂﬁaﬁmwmﬁmm&wﬁﬂﬂ%ﬂuw_ 8
Write introduction, Exgun and Dugun of Tilwara Tal. 8

A WS 5 AW W e 9 g Ry R g

—

RolIND. o, 1421
Printed Pages : 2
GSE / M-16
MUSIC (Insturmental)
Theory
Time allowed : 3 hours] {Maximum marks : 40

Note :  Attempt five questions in all, selecting at least one
question from each section. All questions carry equal

marks,
e . o G g9 BN I9% G @ TH-0F FT AT dfard
& @it T & o aurT &

Section-1 (@Us-1)

1. Write the notation of one Mascetkhani Gat with one Tora in

vour syllabus, 8
I qrgEEn § A B it o w0 o adieerh @ (Slow Gat)
o A2 A Rifao 8

2. Write the detailed description of any two Ragas of the
following :
) Kafi (i)  Vrindavani Sarang (i) Des 8
Frefefaa Rt & <ot @ oof oieg 4
® FW @) g e @ T 8
3. Write one Razakhani Gat with two Toras of the following
Ragas :
©® Des (i) Vnndavani Sarang (i) Kafi 8
Frefofaa fedt o w1 & mar @ & del Gk RiRae -
@ =234 (i) g GRA i) = 8

[ 14971 ! PT{M



(2)

6.  Discussthe essentials of a good system of regulating stationery

inan office. 16
et Pt § g deT ol S Pt s oA o iy
& Evad o F Ao Hf 16

7.  Explain in brief the advantages and disadvantages of using
machines in office. 16

FEfeg & 7 & SR $ el aw ehE & e #itm 16

8. Write short notes on

(a) Typewriter (b) Computer and printer 16
1 W Gt fewftm fafag -
(F) eETWRE (@) @ R fex 16
9.  Explain the essential elements of a business letter. 16
U ARG 95 & AEES T F U BT | 16
10. Define Business Correspondence. Explain its importance in
business. 16
AEHIGH T AR H UG AT AT AEag § gas e
F o i | 16
1433

ROUINO. oo 11433

Printed Pages: 2

GSE /M-16
OFFICE MANAGEMENT
Time allowed : 3 hours]

Note :  Attempt any five questions. All questions carry equai

[Maximum marks = 50

marks.
W F U g P FuT A T g9 B o T 2

What do you mean by vertical filing system ? How far it differ
from flat fiing system ? i6

et i el B ey # whe 21 A wak vufy ) w B
T Py R 7 6

pefine the term Indexing and explain in brieft'.e various kinds

r—4

ofindexing. 8

ERRTE S AT A G s & RS senl @ g

=L . *
..._Jﬁmwu.d, i 6

43

What is traning ? Explain in brief the general methods of training

8}

p—t

of persormel.
TioE a4 & 7 caaHE ¥ eRie aked $ aeR $ o amd
T FEl amrer Rvg & w@hire e fik) 16

4, Define Office Supervisor. Explain the duties and responsibilitics
o1 an Office Supervisor. 15
Fawe e | e 3w aeeg s @ e el

.
"
P

ISR & A B i5

o Cutiine tha routine for handling mail in a business office.
TS ORI FEES 3 3% 3w o) Memd gy &

o "
EEIER OIS S0 S H

R R
I | P



(2)

Unit-1I (3%-11)
5. Whatare the characteristics of infection ? Explain in detai] about
the disinfection. 8
WP B F- Rdverd ¥ 0 Rrame @ ProRgde o
CTd 8
6.  Explain the diseases spread by contact. What are the
causes, mode of spread, symptoms, prevention and control of
AIDS. 8
T § B AR W BE-FE R E 7 AIDS B Fr, @
T, O AU S Fremrr g ¥ 7 8
7. What are the factors affecting immunity ? Give the complete
details of vaccination. 8
a@ﬁﬂﬂuﬂ@d%mﬂ%&ﬂﬁwm%%%@
EIECI LY 8
8.  Write about the ‘cervical cancer’ in complete details. 8
TGRS BE F Q9T § AR @ 9aw 8
9. Compulsory Question (e ye)
Attempt any two :
(a)  Dysentary 4
(b) Exercise . . 4
(c) Breastcancer 4
el Qa1 3 E -
(%) P 4
(@) amm 4
(M &7 & 4
1436

Printed Pages: 2

ROINO. oo 1436
GSE / M-16
HOME SCIENCE
Paper—102

Time allowed : 3 hours]
Note :

e :

Health and Hygiene
[Maximum marks : 40

(i)  Attempt any five questions, selecting at least one
question from each unit.
(it Q. No. 9 is compulsory.
() P 9T g7 F A9 G 4 4 T G 7 Th
HAITH 81
(i) 59T gEm 9 sifard &1
Unit-I (F%E-T)
What is the WHO definition of Health ? What are the
characteristic of good health. Explain. 8
fieq wmReR e AT W # w aiem & T 2 7 o @R
F fadwand /& & ? e 8
Explain the good habits of eating and drinking in full detail with
possibly suitable examples. ‘ 8
Fa-0R @ ol atedt @ SR wEed Wi famngds atfa
T | 8

What is the contamination of water ? What are the various
methods ofits purification. 8
o-ggEe A4 % 7 wa gl B R B woam w0 8

What are the principles of First Aid ? How will you give ittoa
patient with ‘poisoning

Tt ITE & 41 e € 7 ofe R & T @ 6 g
q g JrEr &6 7 8

1436 PT.O.




RETINC e . 1442
Printed Pages: 2
GSE /M-16
POLITICAL SCIENCE
Paper-II, Opt. -1
Indian Politics ‘
Time allowed . 3 hours] {Maximum marks : 80
Note :  Anempt any five questions. All questions carry equal
marks.
F7 . FF ofF 99 &% a9 gei & 9% gE 8
1.  What is State Autonomy ? Why did the demand of State
Autonomy ? 8+8
= T A R 7 T w5 A A g ! 8+8
2. Whatis Centre-State Relation in India ” 16
aE § = oY gt # oaTE B 16
3.  Examine the defect and refourms of Indian Electoral
System. 8+8
WA g T & 4 R A A e Ff 8+8
4.  Write anote on voting behaviour in India. 16
g § AeeH @der gv Fae Rl 16
5. What s the feature of Indian Party System ? 16
TEE T e @ fewad aeEd | 16
6.  Write anessay on AAP Party. 16
W e Wt W Freg ford 16
7. Whatis the role of caste in Indian Politics ? 16
wdr ety § AR @ Fm a2 16

1442 PTO.




2
(il examine therole of Regionahism in Indian Political
16
ST e mEE] R OERTE T S F ot anen
7 16
Objective type questions (FEIFE 337
(i Name of the President of India
() Pranab Mukherjee {b)  Amit Shah
(c)  N.Modi (dy P Modi
qd ® T H A
(7w s EHE ol
(7} ud. mE 'z T AEl
(Y Minimum age of the member of Lok-Sabha:
(ay 20 years (b) 18 vears
(cy 25 years (d) 30vears
AEA = T & o A AG
() 20aW @ 18 ¥
~- {@ 2sad {z) 303

(m}  Who Preside over the meeting of Rajya Sabha :
(a)  Speaker (b)  President
(¢} V. President (d)y PM.
T WA FCqEER w3

(7 ey =3 TET

(1) 39 () gurHeEd
(i) ﬁym retirement age of the J :am@.....uw Supreme Court :

@ 58 m 60 T 65 @ 70

maled EEg & T f = H

A 58 = 60 o\ 65 (= 70

1442

(vl

IVt

{(vii)

{viii)

1442

~
-

How mems reco znise regional parties are there in India

ter e o ~{ ey 60 (d) 54

V= I TEs TEe o g Ee B
=20 = 40 =60 {30 54
How muny Members are nominated in Rajva Sabha hy

Pre~ident :

Name of the Governor of Haryana :

(a)  K.L. Solanki (b) K.S.Solanki
tc)  M.S.Solanki (d) None of these
Tl A -

) omadEE (g
When INCP was established

(ay 1875 (b) 1885

(c) 1890 (d) 1985 2x8=16
Feg Aew i wEl (INCP) #8 =

(7 1875 (@) 1885

(A 1890 . (2} 1985

T 2e8=16
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BHE/M-16 16060

ENGLISH
Literature in English (1660-1750)
Paper-III
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
Attempt any mwe questions from Section B. Section C is
also compulsory.

SECTION-A
(Compulsory Question)
1.  Explain with reference to context g:w%é& :
(a) Roused by report of fame, the nations meet
From near Bunhill and distant watling street,
No Persian carpets spread the imperial way,
But scattered limbs of mangled poets lay;
Much Heywood, Shirley, Ogleby there lay,
But loads of Shadwell almost choked the way.
(b} "But why insult the poor, affront the Great ?"
A knave’s a knave, to me, in ev’ry State.
Alike my scorn, if he succeed or fail,
Sporus at Court, or Japhet in a Jayl
A hireling scribler, or a hireling Peer
Knight of the Post corrupt, or of the Shire.

16060/800/KD/800 [PT.O.



{c) To please a Mistress, One aspers'd his life;
He lash'd him not, but let her be his wife;
Let Budgel charge low Grubstreet on his quill,
And write whate'er he pleas'd, except his will,
Let the Two Curls of Town and Court, abuse
His Father, Mother, Body, Soul and Muse.

(d) As to our city of Dublin, Shambes may be appointed
for this purpose, in the most convenient parts of it, and
buichers we may be assured will not be wanting;
although [ rather recommend buying the children
alive, and dressing them hot from the knife, as we do
roasting pigs. (3x8=24)

SECTION-B

Note : Attempt any rwo questions.

2.

'‘Mac Flecknee' is the short satirical poem in which
Dryden has treated Shadwell with humorous contempt.’
Elaborate.

Write a critical note on Pope as a satirist with special reference
to ‘An Epistle to Dr. Arbuthnot’.

Identify and discuss the proposal made by Jonanthan Swift
in 'A Modest Proposal' and carefully analyse the reasons

given to justify it. (2x15=30)

16060/900/KD/800 2

SECTION-C
(Compulsory)

Note : Answer both guestions as directed.

5. Give a brief account of the social, political and literary
tendencies of the Restoration Age.
OR
Trace briefly the development of poetry, prose and drama
during the Restoration period.
6. What were the literary tendencies of the Age of Pope ?
In what ways did it differ from the earlier ages ?
OR
What changes did poetry undergo during the neo-
classical age ? {(2x13=26)
16060/900/KD/800 3
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Time : Three Hours]

BHE/M-16 16061

LITERATURE IN ENGLISH 1660-1750
Paper-1V

[Maximum Marks : 80

Note : Attempt all questions as desired.

1.

SECTION-A

Explain with reference to the context any three out of the
given passages :

(a)

(b)

Ah, plague of his sentiments! If he salutes me with a
scrap of morality in his mouth, I shall be sick directly;
but, however, don't mistake me Sir Peter; I don't mean
to defend Charles's errors-but before 1 form my
judgement of either of them, I intend to take a trial of
their hearts- and my friend Rowley and I have planned
something for this purpose.

As for the newsmongers, politicians, mimics, story-
tellers, with other characters of that nature which give
birth to loquacity, they are as commonly found among
men as the women; for which reason I shall pass them
over in silence.

Laertes has fifteen thousand pounds a year: which is
mortgaged for six thousand pounds: but it is impossible
to convince him, that if he sold as much as would pay
off his debt, if he would save four shillings in the pound,
which he gives for the vanity of being the reputed master
of it. Yet if Laertes did this, he would perhaps be easier
in his own fortune; but the Irus, a fellow of yesterday.
who has but twelve hundred pounds a vear, would be
his equal.

16061/900/KD/1669 ‘ (BT.0.



{d) Because the disappointment doesn't reach vour heart:

vour interest only attached you to Maria. Had you felt
for her what I have for that ungrateful libertine, neither
your temper nor hypocrisy could prevent your showing
the sharpness of your vexation. (3x8=24)

SECTION-B

Attempt any swo questions from this section :

2. ‘The Scheol for Scandal’ is a typical comedy of manners.
Discuss.
OR
Which of the characters in The School for Scandal seems to
you to be most true to life ? Justify your choice.
3.  Write a note on Addison's style.
OR
Attempt a critical appreciation of the essay “Fans”.
4. Write a note on the moral bias of the Spectator with reference
to Richard Steele.
OR
Attempt a critical appreciation of the essay “Of the Club.”
(14x2=28)
SECTION-C
5. (a) Write notes in about 400 words on any two of the
following :
(i) Oliver Goldsmith.
(i1) Thomas Shadwell.
(iii) Aphra Behn. (62x2=13)
16061/900/KD/1669 2

(b} Write notes in about 200 words on any three :
(i) Pilgrim's Progress.
(ii) The Beggar's Opera.
(iii) Seasons.

(iv) Pamela.

16061/900/KD/1669 3

(5x3=15)



Roll No. ..ccccvvin. Total Pages : 3

BHE/M-16 16082

.

HERA
(fertrmefaq Hfaerasy =)

Paper-III
Time : Three Hours] (Maximum Marks : 80

AT ;. 9l R erfEE #)

1. frefafes o=t # s Hfe .

(F) geodt ¥ FH-BH ¥ T afmfam £

(@) wefita v § w0 afg &)

(M) v S wER A Y R Y W eEn W
TS w87

(9) f9 99 F1 9RO TSP TE=R FHT F GEER T
% fera w2

(%) vzl & w3 w1 W foafaw

(F) faems % SFTAR FA-1 g PR Y aren £

(%) fdeF: ® FER o9 & 7 T SE-d ¥

(W) & # qahf ok swef o | freEt qem W
27 (8x2=16)

2. (%) Ffafga & @ fe=i 2 voiml =1 smen Fife—
(i) Ao waa: 9 Jereeeedsfy safmaEfa;)
FieTesniaal Fefled T4 g SR gEeE:)

16082/100/KD/745 [P.T.O.



(i) fregg 9m 7 el 9 9t 37 foe sfeam| (i) FIF<EHEd gt Jraeare:|
vadd T favrmenfert oTREE o A whe) | ofts o1 wEdmE fFEidd sseE

(iii) TR : A Fers TarT:) (iii) fauft Sefwemsae e wefe T g oy
TR F S EeAREe e ) Ffe =fsefasdas o vefafasfae fo geremm
(iv) faera wnf 39 | o aed: FER qfe aum oiwﬂ.&&pﬁ_ﬂﬁ:ﬁmﬂﬁ |
fafeem AeHt: Tt ey W ggey
T v, e Trwgen: we fafg g7 A i @ TR TR W
Jya:H .

HreTege: gfamat 92 9 i -
(2x5-10) T (2x5=10)

(|) Feafafes fret we gf| #1 9w9n =men wifa

(@) frafefes et © gfm 1 quen smen Hifm- (i) T wem fF 7 w0 g
N ONE GRteilE SL Rl | (i) AIER: wafr wHoeRd i)
(i) fafesea: Gdf=agaa: : 6
5. (%) 9l = frafgwm &1 av wifew)
3, (%) 9Rfg =) FEEEt =1 9o b 1o
S Hfres ® STHER T F W w1 A wi
ety ® 3w wi w1 mew fafay
ﬁ@v&ﬂwaﬁﬁﬁgm%%ﬂmﬂﬂﬂmﬂ A@v%ﬁmﬂ%gﬁzﬂdﬂm%ﬁﬂgw@d
Eficaficecica k-l ie HexE
St FifterTE # oMUR W wH! ® PN H A Wl o
TRTaAEm F STOR TR & FHasd F1 gUiF S| fefam)
. _

4, (¥) fmAfafes 0 4 &= 2 o= =1 =amem #if .

16082/100/KD/745

i = aﬂdﬂm.m a1 m_.mum&" g
q IS GERIaa ||
2
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BHE/M-16 16083
HEhdyq
(=T Reafasaee)
Paper-IV
Time : Three Hours] [Maximum Marks : 80

AT ;T FE: FAAHEY SO0
TH T F R I D

1. TEUEE geEEn It e
TETHF W ® IW A

(@) WpARERas yEffesm wfa semEm: wfar
WEHEATERE F qEfifew § e segam §

(M) ‘S TmReREd................. 19 TN
et g
o Tum goi =%

(%) TR 7ot F1 mi? F= AW faa)
TSEE F1 9 B o2 sTH: 9 faw)

(%) frarafasas : @i
Tt =1 w@fmm =6 $)

(=) foreefasae veomfams #f frvvamn: ofa)
frausifas & wom fomm o fFae frvwem

16083/100/KD/746 [P.T.O.



EF :?
Femsfam 1 T w2 28=16) () e ™ aer wed FhfEEier | T e
)T mﬂﬂﬁmﬁﬂ_ﬁﬁ& AEUEAEY:, FTH! TS~ S, W rE{hIerd
TEIREE & Weh TNV i S F T T | ey
Heart  qraoraremfifraay) feew  dawwfedt TR, v e
Hferigamfa: EdEshinm afam gHEA: FAIREEEE -
Fafal  aeaEm qa AomfEen T it — — .
ST fed: STAHTI T & e o g Hreraergre-Afemu sfagses EHaTES-

_ H FATFHFIONTTA, FRTEAAGEE - THTAA -
e | FEAAE W T WA ISR T -G IR Id Ry ety
= Ty gt afta faefem R e fE RERESEE
e TR @ T T W Ry T R (T) FO-TEH-TT: R He wed o et
HHEA| OC]
) TLHAREANTR THET: TEH: A FH| fex: wmme fafsfoa: @ oy: Twe g fag=n
WEATERE ® U G ® e i
wWfat | w1 ®WH, IEEE: FE TEAEEERG, HRER E: o S T S
i, ARt FoH? frrauefasa # woufeeE™ &1 FAOER Y5 F 16
Sea

g | T YHIEAE FATERE aocts T8-S



(g)

(h)

Fig = T9T wE F T T?
i) 1906 H
(iv) 1938 Hi

(i) 1885 W
(i) 1924
How much reservation are provided to Other Backward
Classes (OBC) in India ?

i 7% (iiy 15%

(i) 27% (iv) 33%.

e o ot fred i (i) W e SReT

e[ fFw T 2

Gy 7 wfawa (i) 15 wfava
(i) 27 s (iv) 33 Wil
What is the Election symbol of BJP ?

(1) Hand (ii) Lotus
(iii) Elephant (iv) Watch.

g s T (@) #= g ' .= 27
i) FHA F T
(iv) W&t

i) T™
(iii) T

16084/250/KD/747 4
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16084

BHE/M-16

POLITICAL SCIENCE
(Indian Politics)
Paper-1

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any five questions. All questions carry equal marks.
Az : FE Ui TE FAY T WA ® siF TR E

1. What are the causes of tension between the Centre and the
States ? Suggest the measures to remove these tensions. 16

FZ A0 T B Y TE F F IR E? W = H
[ FA F 3G FAR

2, What is meant by Federal Government ? Discuss its
characteristics. 16

TureE TR ¥ w0 aeed €7 o favwaet w1 el
Hifera)

3.  Write a note on Election Commission of India. What is its
role in modern era ? 16

T % A SR W wF e fafaw smyfe gm A
THH T fyeT 27

4. Explain the main reasons of Political Defection. Throw light
on the main measures to control the defection. 16

ToHifah TA-98d & J&F FRUI & aUF Hi T TH &
T I W GE SE|
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Describe the various problems faced by Political Parties in
India.

IRE H USRS F GEA o et et gmsy w5
FUH FISC

What do you understand by Pressure Group ? Describe the
main features, merits and demerits of Pressure groups. 16

TE Y9 W A R WEE 27 @9 TR # qEA
fagroaatt, o1 iR S w1 Seorm wifm)

How does Religion influence the Indian Politics? Explain it,
‘ 16

TR T w uH fRe 9 waifia s 27 =
Eaisiy

What is Regionalism ? Describe its different forms in India.

16
gaE ¥ 27 uRd ° e fatv= v W ool wR
Objective type Questions. (8x2=16)
RS 9|
(a) How many subjects are in Union List ?

@ 47 (ii) 66

(iii) 97 (iv) 99.

o = ¥ fre fem @2

(i) 47 (i) 66

(1it) 97 (iv) 99.

(b) How many members are in Indian Election Commission ?

i 9 (iiy 7

(iii) 5 (iv) 3.

16084/250/KD/747 2

WRAA T S ¥ frad ooy 8

(i) 9 (ity 7
(1ji) 5 (iv) 3.

(¢} Who can remove the Chief Election Commissioner of
India ?
(i) President (i) Prime Minister
(iii) Parliament (iv) Public.
WRE F YA I AR F A e ww
(i) Tegafy (i) FuFEs
(ili) H9g (iv) S

(d) Recognised National Political Parties at present time are.
(i) Seven (it) Six
(iii) Five (iv) Four.
LI L B BT S——
(i) 9 (i) 3%
(iii) o7 (iv) =R

(e) Which Pressure Group is related to students ?
(1) SH (i) ABVP
(iii) NSUI (iv) All the above.
F-T W TN oE Y waEhE 3
(i) TH.TF.M. (i) watEa,
(iii) TA.TH.7.37E, (iv) STFT |qf

(f)  When was Congress established ?
(1) In 1885 (i1) In 1906
(iii) In 1924 (iv) In 1938.

16084/250/KD/747 3



(c) 2003
(dy 2007.

I ® RTI HMF F9 TH g2
(%) 2000 H
(@) 2005 ®
(TT) 2003 ®
(*I) 2007 H

(viii))Who was the supporter of End of Ideology ?
(a) Lipset
(b) Daniel Bell
(c) Galbrath
(d) All the Three.

foamam & o =1 WHYw S on?
(%) fo=

(@) = A=

() TSy

(=) w0
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BHE/M-16 16085

POLITICAL SCIENCE
(Contemporary Political Science)
Paper-11

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting at least one question

e -

from each unit. All questions carry equal marks.

F W Y A F9-9-%9 TE ¥ F 9 W@
= ufa v B I AT g9 e # ot T R

UNIT-I ( F&E-1)

Define Behaviouralism. Describe the main characteristics of
Behaviouralism. 16

SEEREE 1 ufers Afww ok e qem faewast w
JuH Hifal

Define Political Science and describe the various methods of
Political Science. i6

T faEm ) ooy w0 gEe fafm fafud W
FuiR H

UNIT-1I ( 3aTE-11 )

Define Political Theory. Discuss its main characteristics. 16

et fagia ® i feah @ Tea faemae &
TR HU|
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What do you mean by decline of Political Theory ? Critically
examine the problems of Political Theory and decline of
Political Theory. 16

T fagia ® @ 4 o @ 9mER ¥ TofE
fozra FT G F IO FW g S T T
T F SHEAHS A Fi)

UNIT-III ( S&té-I11 )

Define Political Culture. Discuss its main characteristics. 16

Tt g8pfa ®1 oftaw Sfvw oo g 3
geg favmarst &1 avie =Y

What do you mean by Political Socialization ? What are the
main agents of socialization ? 16

TR AASTHI W M = 9 2 Torifas s
% faf= o w1 gl w9

UNIT-1V (S@E-1V )

Right to Information (RTI) Act has its importance in
Democracy. Explain in detail. 16

I ® AR F e § wear €, fawwad® smen
EQiE

Define Feminism. Describe the theories regarding Feminism.
14

FRIAR ®T qRar ffsw e § wefue foea w51 au
Ed

16085/250/KD/1671 2

UNIT-V ( T&E-V )

9. Objective type questions :

THAS A :

(1) The main characteristic of Modern Political Theory is :

(a) Empirical

(b) Inter disciplinary
{c) Scientific

(d) All of above

snyfrs Terifoes fagia #1 gea favmar 2
(%) sgsfas
(@) 3= AT
(M) Tt
(9) SHF |9

(ii) Theory originated from the word Theoria. To which

language does it belong ?
(a) English

{b) Greek

(¢} Latin.

(d) French.

2

i = e ¥ fam mn d ww fRwoww @

afm 22
(F) oTst
(@) gAMt

16085/250/KD/1671 3
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(iii)

@iv)

(1) AT

(%) Wi

When was the word Political Culture first used ?
{a) In 1926

(b) In 1943

(c) In 1956

(d) In 1971.

2

i TRl T2 w1 T wdwem w9 R T

(F) 1926 ®
(@) 1943 o
(M) 1956 ®
(%) 1971 H|

Political Socialization has been adopted from which

discipline ?

(a) Economics

(b) History

(c) Sociology

(d) Psychology.

Teritfas wEreimr fFa fawm | o w32
(%) SR

(@) gfoe™

() HHTSETEA

() WA

25/250/KD/1671 4

(v)

(vi)

Who was not the supporter of Behaviouralism ?
(a) Charles E. Merium

(b} David Easton

{(c) Lasswell

{(d) Karl Marx.

T ¥ P FEeTER H GEEE e e
(%) =ed 3 wiaw

(@) o F=A

(M) HE

(|) el M

When was Stockholm Conference held ?
(a) In 1962

(b) In 1972

(c) In 1982
(d) In 1992.

W THe F9 §A7
(F) 1962 H
(@) 1972 ®
() 1982 H
(%) 19921 H|

(vii) RTI Act was passed in India in :

(a) 2000
(b) 2005

16085/250/KD/1671 5



